H & 0l & AHS B Ml A

0248 =0ila eI JIEESX0 2024-01-02 15:18:49

A JEE=SX0
2 Hd=1sd

el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JEE=SX1 42,876,338 36,920,400 5,985,938
= 14,511,987
[ 1,570,826
Jl 2,804,225
< 9,248,335
Al 14,740,965
(GESEINEFN 5,911,657 4,908,621 1,003,036
= 1,125,511
Il 2,223,646
== 816,050
Al 1,746,450
Heg=Xsd 4,251,793 3,510,794 740,99
= 1,125,511
Jl 1,545,477
== 511,830
Al 1,068,975
HEt=gd g2 N2 21,903 21,703 200
201 er23| 16,503 15,303 200
01 At2teltl 15,422 15,222 200
O eS| 8,382
OANFES & MMFH 225 7Y
8,382,000& 8,382
OIl=4| 600
O FFHIZA(32H) 600,000 600
O=¢g| 6,440
ONgII=EE =y 6,440,000& 6,440
02 s3=gHl 81 81 0
OZ2S 23 HAl 81
OBARS 81,0003 81
202 04l 6,400 6.400
01 =LHAHI 6,400 6,400
O &IIREH ZRFA 6,400,000& 6,400
oy SXNSE Mg = 59,170 66,569 AT,39
201 fet= 3| 20,217 20,316 A9
01 AtR2t2lHl 10,217 10,316 AP
O=¢gtl 920
oy gR= 920,000 920
O2g8+< 2,850
oddES?ES EN+d
70,0002 x6H *23] 840
o= n= (838, g1, 452, 0HF
=) LA 1,380,000& 1,380




A JEE=SX0
2 Hd=1sd

el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEENEENCEE
70,0002 x2H <33 420
O0d3lE At IEHRAS
70,0002 x3H*13] 210
O et=EZH| 6,447
ONEUR=I AIRES 78
1,947,000 1,947
OZHMY (L3S, 4000, &= IR EH)
sS2=35 78 % 4,500,000 4,500
03 A= 10,000 10,000 0
O 35 10,000,000& 10,000
202 04| 1,400 1,400
01 SLHoIH 1,400 1,400
0oy g4 1,400,000 1,400
301 EtE N = 13,500 13,500
11 dALEBIXNIE S 13,500 13,500
OF2 nd ZA
10,000,000 10,000
O&= t8la FA
1,000,000& 1,000
OF= G Of 3
1,000,000& 1,000
O ESAES F4 1,500,000& 1,500
307 @20l & 24,053 31,353 AT7,300
03 2IZFHAHEE 23| 9,183 9,183 0
O detHE2s = 9,153,000& 9,183
11 AMRISXAEEES 14,900 22,200 A7,300
OLgdEST2 I8 sial
9,900,000& 9,900
O=HH2 ogez gol o 2121
5,000,000& 5,000
HEASIEHEU(EX) 9,170 13,150 A3,980
s 2,520
Al 6,650
307 212+01& 9,170 13,150 A3,980
& 2,520
Al 6,650
11 AMEISXAEEES 9,170 13,150 23,980
O EHH S&Hat A 9,170,000 9,170
= 2,520
Al 6,650
HgZlatEAlIxY 27,690 21,690 6,000
201 er2 3| 16,890 16,890 0
01 AtR2t2|HI 8,040 8,040 0
O+ 2,640




A JEE=SX0
2 Hd=1sd

el od=Xsd (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ONAIIERIGHE| POIEHIE AIAR 2
HZHI 160,000 1 A %121 & 1,920
OGESTA YDET APBE 79
720,000 720
ORAE W =H| 4,000
OUMABITAl AHLS 9B
4,000,000 4,000
O2gs5 1,400
OHERZTIZAl ZEFRE 2H
70,0003 * 10 23| 1,400
02 B22ZH| 4,850 4,850 0
OAIEEHI R X 4,850
OGIAIIERSE ALK
4,850,000 4,850
03 A2 HH| 4,000 4,000 0
ONWAEZISEAl ABIEHE KAE
4,000,000& 4,000
202 044| 1,300 1,300
01 2L | 1,300 1,300
OHAERISIEA HEFX 1,300,000& 1,300
301 LEtEXZ 7,500 1,500 6,000
11 HAMAHIAI R 2 7,500 1,500 6,000
ONAERSIEA 2Y B4t 1,500,000& 1,500
OWAERSXHEAl BREYS
6,000,000 6,000
303 ZaZ 2,000 2,000
01 ZA= 2,000 2,000
OUERSEA T4 LLE2A LA
2,000,000& 2,000
YHIE U HHEISI2AEII NF(BX) 1,600 2,000 2400
& 467
Al 1,133
201 LB AH| 1,600 2,000 A0
= 467
Al 1,133
01 AtR2t2lbl 1,600 2,000 A400
OLB=2Y| 1,600
OMdYEHeHI} N= 1,600,000& 1,600
= 467
Al 1,133
Ol=2FH| XL (BHR2IEIE)(EX) 1,794,860 1,695,537 99,323
J| 1,435,888
= 179,486
Al 179,486
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SN JIE=XD
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0F4E 22 01 Y5l e
15,000,000 15,000
= 7,500
[ 3,000
Al 4,500
OlOISS XY (EX) 1,597,159 1,201,373 395,786
= 1,118,011
[ 191,659
Al 287,489
307 glztol & 499,478 562,632 A53,154
= 349,635
s 59,937
Al 89,906
11 AR SXAIEE X 499,478 552,632 A53,154
O010ISE MHIAXIE 22|
499,478,000 499,478
= 349,635
=S 59,937
Al 89,906
308 XXM SOIA 1,097,681 648,741 448,940
= 768,376
=S 131,722
Al 197,583
183 SIS U B 4 HASAIE 1,097,681 648,741 448,940
O00|=3 MHIAO0IE BF XIE=s
1,097,681,000& 1,097,681
= 768,376
= 131,722
Al 197,583
OOISE0] AH2HTH| X (EX) 1,230 1,500 A270
[ 369
Al 861
307 glztol & 1,230 1,500 A270
= 369
Al 861
1 AMEISXAEEXS 1,230 1,500 A270
OOt0I==20] AZ&88H| XI&H
1,230,000& 1,230
= 369
Al 861
FOIME oty S854Y NJ(EX) 6,000 2,400 3,600
[ 1,800
Al 4,200
307 lztol & 6,000 2,400 3,600




SN JIE=XD
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,800
Al 4,200
11 AMEISXAEEES 6,000 2,400 3,600
O2O0IEE ot S=ag N
6,000,000& 6,000
= 1,800
Al 4,200
H238 =Y d484 2XJ(EX) 142,022 139,152 2,870
Il 71,011
= 35,505
Al 35,506
307 el2to| & 142,022 139,152 2,870
) 71,011
= 35,505
Al 35,506
1 AMEISXAEEXS 142,022 139,152 2,870
OS2 Mg 2% X
142,022,0002 142,022
) 71,011
S 35,505
Al 35,506
HEZHagA 29 SN (EXR) 22,852 21,644 1,208
= 6,85
Al 15,99
307 @I2t01 & 22,852 21,644 1,208
s 6,85
Al 15,996
11 ARRIS XA E X 22,852 21,644 1,208
Od=g dga 249 &
22,852,000 22,852
< 6,856
Al 15,996
SZTHAF o2, 2k N (2X) 2,800 3,400 2600
) 1,960
< 420
Al 420
307 lztol & 2,800 3,400 2600
Jl 1,960
== 420
Al 420
11 AMRISXAEEES 2,800 3,400 2600
Od= Tloikt 2 =4 2,800,000 2,800
Jl 1,960
=S 420




SA: IS
B ON=REX
el Hd=As (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| Al 420
SAZHIGHA XE,S=SZ2 NS (Bx) 5,631 10,418 N4 787
| 3,942
& 845
Al 844
307 QI2Hol ™ 5,631 10,418 N4 T87
| 3,942
& 845
Al 844
1 A =XAIEE X 5,631 10,418 N4 T87
OS2 ISR N23= T2 2Y
5,631,000& 5,631
| 3,942
& 845
Al 844
OEZHAEA SAK HRIME(EX) 6,480 6,480 0
& 1,944
Al 4,536
301 LEBEF 6,480 0 6,480
= 1,944
Al 4,536
08 A2 & X452 (KL ) 6,480 0 6,480
OO Z2ANE L EANT 2
6,480,000& 6,480
& 1,944
Al 4,536
IS ZS TioiA X232 Z28 L oj=H| N2 1,714 1,960 A246
x)
| 1,200
& 257
Al 257
307 QI2Hol A 1,714 1,960 A246
| 1,200
= 257
Al 257
1 ASI=SXAIEEE 1,714 1,960 A246
OJlE=2 LsK o2yl A
1,714,000 1,714
| 1,200
= 257
Al 257
OtSOE X AAU RS (B X) 1,260 1,800 AB40
& 378
Al 882




SN JIE=XD
33 od=Nsd
el Hd=As (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,260 1,800 AB40
= 378
Al 882
11 AMEISXAIEEXS 1,260 1,800 A540
O0tS, (g otd NS =2 A2
1,260,000 1,260
=S 378
Al 882
SSS0LEH 2H(EX) 56,712 55,194 1,518
7l 28,3%
= 11,342
Al 17,014
307 @I2t01 & 56,712 55,194 1,518
Il 28,356
= 11,342
Al 17,014
11 AMEISXAIEEXS 56,712 55,194 1,518
O3SS0tUsH 28 N2
56,712,000 56,712
Il 28,356
= 11,342
Al 17,014
SSKO0L=H AKX =E(2X) 2,540 2,240 300
s 762
Al 1,778
301 EtE NS 2,540 0 2,540
[ 762
Al 1,778
03 AL 2 & A 253 (XL E) 2,540 0 2,540
O3SS0lUsH SAHA =2
2,540,000 2,540
= 762
Al 1,778
3S|0L=H 21228 XJ(2X) 25,000 0 25,000
=S 7,500
Al 17,500
401 AIEHIZ SR THYI 25,000 0 25,000
< 7,500
Al 17,500
01 Al&HI 25,000 0 25,000
O3s=0UsEH cl28e X
25,000,000 25,000
= 7,500
Al 17,500




2A:

==X

HE: (=TS
el Hd=As (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
JISHE A 206,000 206,000
201 LB-2AH| 6,000 6,000
03 HAL2 G| 6,000 6,000
OJIF4H Ol™ H2A S
6,000,000& 6,000
405 KR SHI 200,000 200,000
01 XML =EF S| 200,000 200,000
OJIEMH DI 2871 S
200,000,000 200,000
M ZZagAs SAL ESIH NJ(BX) 1,600 1,600 0
= 480
Al 1,120
307 212+01 A 1,600 1,600 0
& 480
Al 1,120
11 AL =SXAMSEES 1,600 1,600 0
OO EZS AN SAIL EE SOHH| X
1,600,000& 1,600
T 480
Al 1,120
HEAESHEH 23 20,000 0 20,000
401 AIEHIZL 200 20,000 20,000
01 Al&HI 20,000 20,000
ONEXRESHE HALESEI 9 S
20,000,000 20,000
22018 & O=23 It 33 K& 1,659,864 1,397,827 262,037
J| 678,169
T 304,220
Al 677,475
22018 & O3S AlelSg X At 26,060 26,060
201 LB-2AY| 560 560
01 AtR2telt] 560 560
OC2SIEXEE 3 Ad A
70,0003 *8H*13| 560
307 212+01™ 25,500 25,500
11 AMSISXAEEX 25,500 25,500
OC23t H=E &ite 13,500,000& 13,500
OLUE3tE " 2FAL HO=I]
12,000,000 12,000
JIEHE 2Y9(8x) 895,006 580,180 314,826
J| 447,503
= 134,251
Al 313,252
307 2I2+01A 895,006 580,180 314,826




SN JIE=XD
33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 447,503
=S 134,251
Al 313,252
11 AMISXAIEEX 895,006 580,180 314,826
OJI5HH 23 326,200,000 326,200
Jl 163,100
= 48,930
Al 114,170
OF2 2DIDIE SSXR AL
252,380,000 252,380
Jl 126,190
= 37,857
Al 88,333
OLEstuE 2532t 44,900,000 44,900
7l 22,450
= 6,735
Al 16,715
OUE2tE THAXIE 271,526,000& 271,526
Jl 135,763
= 40,729
Al 95,034
s o THHM8 S S2RNSMHIA XJF(EX) 180,242 165,735 14,507
Jl 90,121
= 27,036
Al 63,085
307 gl2tol & 180,242 165,735 14,507
Il 90, 121
= 27,036
Al 63,085
11 AMEISXAEEXS 180,242 165,735 14,507
OYZ2USMEIA X3 180,242,000& 180,242
) 90, 121
< 27,036
Al 63,085
ZE0I12X AHASKH(EX) 24,500 24,500 0
) 12,250
< 3,675
Al 8,575
307 lztol & 24,500 24,500 0
Jl 12,250
== 3,675
Al 8,575
11 AMRISXAEEES 24,500 24,500 0




2A:

X XH -
o=

==Xt
RPEEINESS

chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZE0(0IT AN
24,500,000& 24,500
Jl 12,250
[ 3,675
Al 8,575
ZEO0IYX SHAMHIA XIB(EX) 102,300 65,626 36,674
Jl 51,150
& 16,345
Al 35,805
307 glztol & 102,300 65,626 36,674
Il 51,150
s 15,345
Al 35,805
1 ABIS XA EE 102,300 65,626 3,674
OZE0IDIT SHAAYIA
102,300,000 102,300
Jl 51,180
=S 15,345
Al 35,805
01520 II=EIXE(EX) 73,110 36,031 38,079
Il 36,555
=S 10,966
Al 25,589
307 21201 & 73,110 35,031 38,079
Jl 36,555
= 10,966
Al 25,589
1 AMISXAEEXS 73,110 35,031 38,079
O01ZN =8 =4
73,110,000 73,110
Il 36,555
= 10,966
Al 25,589
O2akE HA g Y R (ExX) 81,180 78,688 2,492
Il 40,590
= 12,177
Al 28,413
307 el2to| & 81,180 78,688 2,49
Jl 40,590
== 12,177
Al 28,413
11 AMEISXAIEEE 81,180 78,688 2,492
OUE2btE T ogE e X3
81,180,000& 81,180

_11_




SN JIE=XD
33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 40,590
=S 12,177
Al 28,413
JIEHIE EAIETIR(EXR) 39,666 37,200 2,466
< 11,900
Al 27,766
307 lztol & 39,666 37,200 2,466
= 11,900
Al 27,766
11 AMEISXAIEEES 39,666 37,200 2,466
OIISHE SARE X3
39,666,000 39,666
= 11,900
Al 27,766
JIELH BAA SXE X (EX) 49,800 50,200 A400
[ 14,940
Al 34,860
301 LEIE NS 49,800 0 49,800
= 14,940
Al 34,860
03 AR 2E A5 S(XILMHE) 49,800 0 49,800
OJI=4E SALA SXE=E
49,800,000 49,800
= 14,940
Al 34,860
SZE0ISsY 2F(Ex) 125,000 122,700 2,300
[ 43,750
Al 81,250
307 elztol & 125,000 122,700 2,300
S 43,750
Al 81,250
11 AMEISXAIEEE 125,000 122,700 2,300
O==¢E Ut=sg 23 NE
125,000,000 125,000
= 43,750
Al 81,250
ZE0IRX MYEHWR(EX) 10,000 11,000 1,000
< 4,000
Al 6,000
307 212+01& 10,000 11,000 A1,000
& 4,000
Al 6,000
11 AMEISXAEEES 10,000 11,000 21,000




2A:

==X

33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NI
10,000,000 10,000
= 4,000
Al 6,000
ZEO0IQA SHAX ML (EX) 2,800 6,100 A3,300
== 1,120
Al 1,680
307 212+01& 2,800 6,100 A3,300
[ 1,120
Al 1,680
11 AMEISXAEEES 2,800 6,100 /3,300
OZE0[0IT SH2XIE AR
2,800,000& 2,800
= 1,120
Al 1,680
CH230tE DEUE0| XIR(EX) 16,800 32,000 15,200
s 5,040
Al 11,760
307 212+01& 16,800 32,000 15,200
[ 5,040
Al 11,760
11 AMEISXAEEES 16,800 32,000 A 15,200
OUEEIE DELIS0l At
16,800,000 16,800
= 5,040
Al 11,760
AZs I 2 R2us XJ(E2X) 5,000 5,000 0
=S 1,500
Al 3,500
307 21201 & 5,000 5,000 0
< 1,500
Al 3,500
11 AMEISXAEEES 5,000 5,000 0
Odgst It =d R2u=s K&
5,000,000& 5,000
= 1,500
Al 3,500
A IIEACI2SINE AMSISEXJAIL(EX) 14,000 10,000 4,000
=S 14,000
307 glztol & 14,000 10,000 4,000
= 14,000
11 ARRIS XA E X 14,000 10,000 4,000
02120 FUNAT AES 1A A
14,000,000 14,000




2A:

==X

33 od=Nsd
chell 202018 2 (123 OiE HE 1 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 14,000
1010k ) ot HE XZ0l AG(EX) 8,200 4,840 3,360
== 2,460
Al 5,740
301 2eEN= 8,200 4,840 3,360
< 2,460
Al 5,740
03 AL 2 EH 263 (XL E) 8,200 0 8,200
0120017 =) o™ &= NZ0| At
8,200,000& 8,200
= 2,460
Al 5,740
ZE012N S =HFASHIE NE A 4,200 0 4,200
== 1,260
Al 2,940
307 212+01& 4,200 0 4,200
< 1,260
Al 2,940
11 AMEISXAEEE 4,200 0 4,200
0Z2012T S SXFSHS
4,200,000& 4,200
= 1,260
Al 2,940
ZE0ISX e &l X 2,000 0 2,000
== 800
Al 1,200
307 212+01& 2,000 0 2,000
< 800
Al 1,200
11 AMEISXIAEEES 2,000 0 2,000
OZ=0/8Xt et sl X
2,000,000& 2,000
= 800
Al 1,200
il 235 & |4 2,986, 7%4 2,422,809 563,945
= 45,479
Il 185,451
= 122,108
Al 2,633,716
4 54 2 AME 2E 2,986,754 2,422,809 563,945
= 45,479
7l 185,451
S 122,108
Al 2,633,716
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2A:

==X

. 2aAd 25 U 84
ol Had |4 2 AME 29 CERE)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OZAELBNE D2 182 e 2
25,000,000 25,000
301 LEtBEF 110,200 115,200 25,000
11 HARHIKIE S 31,000 36,000 A5,000
O ALY E435 AHY 4,000,000 4,000
Ol 84 Z20| =20 22 243
15,000, 0002 15,000
OFLE HEES N B
12,000,000& 12,000
14 JIEI2 &3 79,200 79,200 0
OFLE Roll &8 410 La=s
200,000 200
OELE W - 25 85 2+ Z0WA EF
OH HIZ 2,000,000& 2,000
COCEAGUSEAE T2 2% ZAEY
77,000,000 77,000
307 QI2Hol ™ 47,500 48,000 A500
02 QIHBAAIH E R 15,000 15,000 0
OXgs HAE QHAER}
15,000,000& 15,000
04 CIZHSHALAIRIE X 32,500 33,000 AB00
OLICtAE HAE AL 4,500,000 4,500
OXZH B2 HAW 12K
28,000,000 28,000
308 AXIHMSOIH 30,000 30,000
13 SI12S0IteHE A X2 &AL 30,000 30,000
OAtSIticATi e EA4E XE At
30,000,000& 30,000
HAEXI S AL BIXIXI& 55,287 51,750 3,637
101 eI24t| 55,287 51,750 3,637
M IIZtHZ22SEs 55,287 51,750 3,537
OJ12s 2,208,6402 2B * 1100 & 48,591
040 2= 295,250 x2B* 1142 6,496
O RS W= 100,000 x2Z 200
HAE FOXA(2ZAE) 4,000 4,000
201 L2 | 2,400 2,400
03 A2 G| 2,400 2,400
OELEHRIRARE 29 2,400,000 2,400
301 LetENEZ 1,600 1,600
11 HALAHIXIEZ 1,600 1,600
OELEHRIRARZS 29 1,600,000& 1,600
HAaE BSsCHEEsE X2 1,513 513 1,000
202 Ot 1,513 513 1,000
01 =WO4 bl 1,513 513 1,000
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FA OEES A
. 2aAd 25 U 84
el Z4ad |54 & A4 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 9,103
=S 1,949
Al 1,949
01 Al E2E AL S(FRDEXH) 13,001 6.858 6,143
OF4H SEXIAME 28
13,001,000 13,001
7l 9,103
= 1,949
Al 1,949
BAESUI D220 2F(EX) 71,332 68,952 2,380
Jl 35,666
Al 35,666
307 glztol & 71,332 68,952 2,380
Il 35,666
Al 35,666
1 AMEISXAEEXS 71,332 68,952 2,380
OFaE SEHAL 2208 29
71,332,000& 71,332
) 35,666
Al 35,666
HAaE ALTA(EX) 90,958 85,964 4,994
= 45,479
= 18,192
Al 27,287
308 AtAIEHMSOIE 90,958 85,964 4,994
= 45,479
= 18,192
Al 27,287
18 SIS0t HAS A 90,958 85,964 4,994
OHASE (E8AHE AMEE XA (=2
X) 90,958,000 90,958
= 45,479
= 18,192
Al 27,287
Had AN 414,500 315,580 98,920
201 er2 3| 14,500 14,500 0
01 AtR2t2|HI 14,500 14,500 0
O+ 14,500
ONdEAd AMES S22 NA S
1,500,000 1,500
o028 ==& 13,000,000 13,000
301 LEtE N = 400,000 301,080 98,920
03 A2 E A0S (XILTHH) 400,000 301,080 98,920
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2A:

==X

. 2aAd 25 U 84
el Z4ad |54 & A4 29 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O0EHAE 2AM2E X2 (HI2RH)
400,000,000 400,000
A Had & XA (BX) 20,000 20,000 0
T 6,000
Al 14,000
201 B2 AY| 20,000 20,000 0
& 6,000
Al 14,000
03 HAL2 G| 20,000 20,000 0
OFLEEN 243 20,000,000 20,000
= 6,000
Al 14,000
st g HAad A NJA(Bx) 5,000 4,000 1,000
J| 2,500
Al 2,500
307 212+01™ 5,000 4,000 1,000
| 2,500
Al 2,500
11 AMSISXAEEX 5,000 4,000 1,000
O3t 5 BAE 24 N
5,000,000& 5,000
| 2,500
Al 2,500
HALAECSEIE XIRAY 1,337,600 1,025,600 312,000
201 B2 AY| 23,000 23,000 0
01 AtR2telt] 23,000 23,000 0
OLe=2| 23,000
OEAHEEIIE EEEE N&E S
2,000,000& 2,000
02Z ==& 21,000,000 21,000
301 LPBNZ 1,314,600 1,002,600 312,000
02 MBI EZASGS(HUAS, XLTHEA) 1,314,600 1,002,600 312,000
OFALEEEIIE HIRH 1,314,600
OXI& A& 15A 30,000 *570H =123 205,200
OX& HH 16~18All
50,0003 *1,8498 « 12& 1,109,400
HAHYUNSOPIHO 2H(EX) 37,016 31,402 5,614
| 18,508
T 5,552
Al 12,956
201 Let23H| 3,642 602 3,040
| 1,821
& 546
Al 1,275




2A:

==X

. 2aAd 25 U 84
el Z4ad |54 & A4 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,642 602 3,040
o344 2t 2 0ol X1d
3,642,000& 3,642
Jl 1,821
== 546
Al 1,275
301 EtE N = 33,374 30,800 2,574
Jl 16,687
[ 5,006
Al 11,681
11 dALEEIXIZE S 19,374 16,800 2,574
o344 2t = 0ol K&
19,374,000 19,374
Jl 9,687
< 2,906
Al 6,781
14 IIEt2 83 14,000 14,000 0
O34 2t 2 0ol X1d
14,000,000& 14,000
) 7,000
< 2,100
Al 4,900
FAHSN=SO0HHIO0 2 32,342 32,342
201 et23| 7,502 7,502 0
01 At22te|Hl 5,424 5,512 N8B
O+ 504
O&EXEZ NAY 29
12,0002 * 1204 & 144
OXMaggs &+ MAY
60,0002 62 360
oOgx= 4,920
O&=J| e 55,0002 =20 * 1204 1,320
oxtg &xtz 600,000 62 3,600
2 S5=2g4l 2,078 1,990 88
0O332= £ HA 2,078
OEA B 28
160,000 *62] 960
OFAHE Y = O3H0I0l HUEE
326,0002 %12 326
OQHY A= 66,0002 12042 792
206 M=l 18,000 18,000
01 MHZH| 18,000 18,000
OFAE &0t = 0BHHI0 XI& A
3,000& «30& *40 2] +5H 18,000
301 EetE2 N = 6,840 6,840 0
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FA OEES A
. 2aAd 25 U 84
el Z4ad |54 & A4 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 6,840 6,840 0
OFAE &0t = 0BHHI0 XI& ArY 6,840
oNEgs 24l 4,0003 30 *123] 1,440
OXEl 30,0002 302 *62] 5,400
HAEAER2E(EX) 118,000 0 118,000
[ 59,000
Al 59,000
401 Al HIZL 201 118,000 0 118,000
= 59,000
Al 59,000
01 Al&H| 118,000 0 118,000
OSAEASHHE JISELAY
118,000,000 118,000
= 59,000
Al 59,000
25 ¥ ots=Xs8d 32,354,445 27,965,005 4,389,440
= 13,294,777
[ 1,034,516
) 360,698
< 8,159,041
Al 9,515,413
ots=Xsa 9,562,522 8,936,391 626,131
= 2,7%,788
[ 858,787
Jl 360,698
< 2,007,002
Al 3,460,247
Ots SXIAME =8 32,423 31,257 1,166
201 er23| 28,520 21,714 806
01 At2tltl 8,520 7,714 806
O +=SH| 2,500
O0ts gF=U 2,500,000& 2,500
O=3=+4 3,780
OOIS2AIRI™S B4y
70,0002 x6H #23] 840
OBSHMAL| ALY
70,0002 102 <33 2,100
OOtS=XIMOIAE BALY
70,0002 x6H*23] 840
O=gt| 2,240
O0ts 28 S 2,240,000 2,240
03 A= I 20,000 20,000 0
OO0l & JIE A} 20,000,000& 20,000
202 048l 1,903 1,543 360
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FA OEES A
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 119,264
Al 119,264
2SEI0ts Mg XE(EX) 60,000 72,000 212,000
= 48,000
< 3,600
Al 8,400
301 EtE NS 60,000 72,000 212,000
= 48,000
== 3,600
Al 8,400
01 Al 2E A S(SRNEXMH) 60,000 72,000 A12,000
OESE20ts M+ X
60,000,000 60,000
= 48,000
== 3,600
Al 8,400
SDIE Ots=4 X (EX) 722,000 722,000 0
= 722,000
301 EtE NS 722,000 722,000 0
== 722,000
02 A2 A LGS (FHAAHS, NLWE) 722,000 722,000 0
Osh|s ols2S4a NE 722,000,000 722,000
= 722,000
ZA0ls SAXA(EX) 1,234,760 1,234,760 0
Il 308,690
Al 926,070
301 EtE NS 1,234,760 1,234,760 0
Il 308,690
Al 926,070
01 Al EE A S (2 RDEXA) 1,234,760 1,234,760 0
Ogsts otss4 NE
1,060,655,000& 1,060,655
Il 265,164
Al 795,491
Ogs otssA N 174,105,000 174,106
Il 43,526
Al 130,579
LAOISIHEXE (EX) 60,012 53,500 6,512
Jl 42,008
= 9,002
Al 9,002
301 EtE NS 60,012 53,500 6.512
Jl 42,008
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A JIESKID
B 98 U OlS=NEA
=S NV === N EF S| EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 9,002
Al 9,002
01 MBI BEAG6Z2(2DEXTHA) 60,012 53,500 6,512
O22D|2 2= X2 2,700,000& 2,700
| 1,890
= 405
Al 405
O =412t 2K K& 700,000 700
| 490
= 105
Al 105
0YBOIS YF2Y X
48,000,000 48,000
| 33,600
= 7,200
Al 7,200
OLL=52 XA 2,000,000& 2,000
| 1,400
& 300
Al 300
OZ0i0ts YAA=E Bx3
6,612,000& 6,612
| 4,628
= 9P
Al 992
QESOISIIE MBS AIAE ASAI(EX) 198,029 133,372 64,657
& 32,734
Al 165,295
301 LPENZ 198,029 133,372 64,657
= 32,734
Al 165,295
02 ASIBEEHS(FHLHS, NYME) 198,029 133,372 64,657
O8I 52823 K&
133,372,000& 133,372
= 13,337
Al 120,035
OJHE RIS MEHEXZ K3
64,657,000 64,657
& 19,397
Al 45,260
F0I8E XA (Bx) 15,000 16,250 A1,250
= 3,000
Al 12,000
301 LBENF 15,000 16,250 A1,250
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S JESXID
mE: 9% U of

ct2l: Of

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

2 38,763,000 38,763

OlsEsdEed NA(EX) 5,000 5,000 0
4,000
500
500

SRR

=

201 Lt 3,400 3,400 0
2,720
340
340

SRR

=

01 AR 22lt| 3,100 3,100 0
02235 OISXY Y2=7
3,100, 0002 3,100

2,480
310
310
300 300 0

= N3

()
=
oM
HI
Ii
m =
o
0)
o
18
40
0o
o0
&2

83t 2=

300,000 300

o
nNo
5

>
S

202 04| 600 600 0

MorJ
8

>
3

01 S0 600 600 0

OOSEsdEYER 04

o
)

600,000 600

MorJ
8

>
3

301 LENZ 1,000 1,000 0
800
100
100

SRR

=

H6l=2(2REX) 1,000 1,000 0

1,000,000& 1,000
800
100

SRR

SHIIGHOISEH 2gXR(Ex) 247,894 237,182 10,712
99,156

H
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FA OEES A
M 98 U OIS=NEZ
i V=t N =SS! (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 74,369
Al 74,369
307 lztol & 247,8%4 237,182 10,712
= 99,156
== 74,369
Al 74,369
10 Al2ISTIAIEEE 22X 247,8%4 237,182 10,712
OstiiloliotsaEE 23| X2
247,8%,000& 247,894
= 99,156
== 74,369
Al 74,369
OlsSEStZAl =4 18,000 18,000 0
201 Eer23 | 14,000 14,000
03 Ar=EHI 14,000 14,000
O0tSElst MEEHXAE ZHOIEY 29
7,000,002 7,000
00j210] B2 /5] 29|
7,000,000 7,000
301 22N = 4,000 4,000
11 AALAEIXIE S 4,000 4,000
O0tSElst MEZHXAE ZH0IEY 29
2,000,000& 2,000
OOIRI0] HAE oj5] BE Ab|
2,000,000 2,000
CIAEOHE 25l A& 96,000 72,000 24,000
301 EtE NS 96,000 72,000 24,000
03 A 2E A4S (XL THH) 96,000 72,000 24,000
OCHENE 2|l X1
96,000,000 96,000
LAY X2z K& 6,000 6,000
301 EtE NS 6,000 6,000
02 A2 EH LGS (FHAAHS, XNLWE) 6,000 6,000
ogaord Xas K& 6,000,000& 6,000
LAHAOtsSESH| X (EX) 12,000 12,000 0
= 8,400
& 1,200
Al 2,400
301 EtE NS 12,000 12,000 0
= 8,400
< 1,200
Al 2,400
01 AR 2EHSHS(RDNEXRTHE) 12,000 12,000 0
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A IE=SAH
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O2L 24 Ots25Hl K&
12,000,000& 12,000
= 8,400
= 1,200
Al 2,400
HROIsSESHI(EX) 12,000 24,000 212,000
= 8,400
= 1,200
Al 2,400
301 LetENEZ 12,000 24,000 A12,000
= 8,400
& 1,200
Al 2,400
01 A 2&ASH 2 (FREETR) 12,000 24,000 212,000
COHZ20tsESH| 12,000,000 12,000
= 8,400
& 1,200
Al 2,400
222 SA0l= =01 2F (02T XLAZUS 100,000 240,000 A140,000
2 £88)
307 2I2+01A 100,000 240,000 A140,000
02 QIRHEAAIH B X 100,000 240,000 A 140,000
02222 SH0l= =0IH 2Y( 24 X
L2EUSIIZ2 2E2) 100,000,000& 100,000
Ot==XAIE 22X 149,500 128,400 21,100
307 gI2Hol 149,500 128,400 21,100
11 Al =SXAMSEES 149,500 128,400 21,100
OO0s=XAIE SAHA == IR
39,600,000& 39,600
OOIS=EXAIE X 22U X
26,400,000& 26,400
OOIS=EXAIE WMl XI&
15,700,000 15,700
O0ts=XAlE Witetd] X3
6,500,000 6,500
OXISG0tSHE HEAIE XA
5,000,000& 5,000
OXS0otsHlH 24 E<01 X&
52,800,000 52,800
OXSG0ISHE SAXR S48 A=H| X
& 3,500,000& 3,500
XS0otsS4dE 298 XA(EX) 188,844 193,582 N4, 738
s A, 422
& 47,211
Al 47,21




FA OEES A
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 188,844 193,582 N4,738
= 94,422
== 47,211
Al 47,211
11 AMEISXAEEES 188,844 193,582 N4,738
OXS0tsSHE JI22g X
188,844,000 188,844
= 94,422
== 47,211
Al 47,211
NSotsHE 238 FOK(EX) 6,600 6,600 0
= 1,980
Al 4,620
307 elztol & 6,600 6,600 0
= 1,980
Al 4,620
11 AMEISXAIEEXS 6,600 6,600 0
OXS0tsHE =2ddl =Jt A&
6,600,000 6,600
== 1,980
Al 4,620
S+28g NG0SHE FHNA(EX) 32,400 33,840 A1,440
s 16,200
s 8,100
Al 8,100
307 @I2t01 & 32,400 33,840 1,440
[ 16,200
= 8,100
Al 8,100
11 AMISXAIEEXE 32,400 33,840 1,440
OS=SHE Xdotsde =t X
21,600,000& 21,600
[ 10,800
= 5,400
Al 5,400
OEREE XFotsdH =t X&
10,800,000 10,800
= 5,400
S 2,700
Al 2,700
XSotsdE g SAH X3 (2X) 610,000 544,250 65,750
[ 162,500
Al 457,500
307 lztol & 610,000 544,250 65,750




FA OEES A
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 162,500
Al 457,500
11 AMEISXAEEES 610,000 544,250 65,750
OXS0tSHE 2tz 24 XA
610,000,000& 610,000
= 152,500
Al 457,500
NOotsSHE SAXHSMHEEI(EE) 56,120 52,120 4,000
== 11,224
Al 44,896
307 212+01& 56,120 52,120 4,000
< 11,224
Al 44,896
11 AMEISXAEEE 56,120 52,120 4,000
OXS0tSHE SAL MM
56,120,000& 56,120
= 11,224
Al 44,8%
XotsME T23H| FI0F NJ(2X) 102,490 85,332 17,158
== 30,747
Al 71,743
307 212+01™ 102,490 85,332 17,158
[ 30,747
Al 71,743
11 AMEISXAEEES 102,490 85,332 17,158
OXS0tsSHEH Z2 8| =0t X2
102,490,000 102,490
= 30,747
Al 7M,743
XSotsHlE! I AHIXIR( ) 980,400 831,322 149,078
[ 490,200
= 245,100
Al 245,100
307 el2tol & 980,400 831,322 149,078
= 490,200
& 245,100
Al 245,100
11 AMEISXAEEES 980,400 831,322 149,078
OXS0tSHE o218 K&
980,400,000 980,400
= 490,200
< 245,100
Al 245,100
XISOtSHIE! SALAE QIH| FIIXRA (LX) 76,793 34,749 42,044
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FA OEES A
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 16,359
Al 61,434
307 lztol & 76,793 34,749 42,044
= 15,359
Al 61,434
11 AMEISXAIEEXS 76,793 34,749 42,044
OXSO0ISHE SAEL 1A =0+ X2
76,793,000 76,793
=S 15,359
Al 61,434
OlSEXIWAL A (OLSE X WAL AFSIE L R2IARE ) ( 41,634 41,634 0
Bx)
s 20,817
s 10,408
Al 10,409
101 ©1AH| 41,634 41,634 0
[ 20,817
= 10,408
Al 10,409
04 JIZtN22 NS 2+ 41,634 41,634 0
OOIS= AN AIBIR 2XI2I AlRl
41,634,000 41,634
[ 20,817
= 10,408
Al 10,409
Ciet=sde 234l X3 39,700 30,800 8,900
201 et 3| 2,500 2,000 500
02 s3=gHl 2,500 2,000 500
OAIE ZHI= X 2,500,000 2,500
307 glztol & 37,200 28,800 8,400
05 2ItRIE =2 37,200 28,800 8,400
OUEN S=dH 238 N
37,200,000& 37,200
G SS4IE o114l XI&(2X) 219,816 166,796 53,020
[ 109,908
= 54,954
Al 54,954
307 elzto| & 219,816 166,796 53,020
= 109,908
< 54,954
Al 54,954
11 AMEISXAEEES 219,816 166,796 53,020
OUEN S=4dE 1Ayl
219,816,000 219,816
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2A: JIE=EX
. 22 U OIS=NEX
=S NV === N EF S| EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 109,908
T 54,954
Al 54,954
CIHEH S84IH 298| XIA(EX) 36,000 28,000 8,000
iy 18,000
T 9,000
Al 9,000
307 2I2+01™ 36,000 28,000 8,000
= 18,000
& 9,000
Al 9,000
1 A= XA EE 36,000 28,000 8,000
OCHEH S=HE 224
36,000,000 36,000
= 18,000
& 9,000
Al 9,000
CHENESHEH SAL =E(BX) 9,200 9,120 80
T 1,840
Al 7,360
301 LEBNEF 7,200 0 7,200
= 1,440
Al 5,760
03 A3 2 & 262 (XY THA) 7,200 0 7,200
OCEH SSHE AR S5
7,200,000& 7,200
& 1,440
Al 5,760
307 212+01™ 2,000 9,120 AT,120
T 400
Al 1,600
11 AMSISXAEEX 2,000 9,120 AT7,120
OLEHN SsdH SALL SEsY
2,000,000& 2,000
= 400
Al 1,600
QES0IE 18E 2 (EX) 263,100 236,155 26,945
= 105,240
= 78,930
Al 78,930
307 212+01 A 263,100 236,155 26,945
= 105,240
& 78,930
Al 78,930




2A: JIE=EX
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
11 AR SXAMEEER 263,100 236,155 26,945
0RE50IE 18225 =29
263, 100,000& 263,100
= 105,240
= 78,930
Al 78,930
QBSOS 18E MU SELEH(EX) 19,440 19,440 0
& 5,832
Al 13,608
301 LPENF 19,440 0 19,440
T 5,832
Al 13,608
03 MBI 2 & A6l 2 (K THEA) 19,440 0 19,440
ORES0s 1158 AL EEE
19,440,000 19,440
= 5,832
Al 13,608
QLESOIE 18E SAA 0222 EH(EX) 4,200 4,200 0
& 1,260
Al 2,940
307 212+01™ 4,200 4,200 0
& 1,260
Al 2,940
11 Al =SXAMEES 4,200 4,200 0
ORES0s 58 AL ORI2R+Y
4,200,000& 4,200
= 1,260
Al 2,940
SSHEDIY(DEE) SAA HE2H(BEX) 5,200 5,200 0
& 1,560
Al 3,640
307 212+01™ 5,200 5,200 0
& 1,560
Al 3,640
11 Al =SXAMEES 5,200 5,200 0
OSSMEINE(OEE) SN Y4B
5,200,000& 5,200
= 1,560
Al 3,640
OISEXIAIE MEOIS XA (EX) 18,690 17,580 1,110
& 5,107
Al 13,583
301 YPENZ 10,000 10,000 0
& 2,500




FA OEES A
M 98 U OIS=NEZ
el OlE=EXSsd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,500
02 A EEHS(FIANE, XLTHE) 10,000 10,000 0
gl40ts ANHEEEHE XE
10,000,000& 10,000
== 2,500
Al 7,500
307 elztol & 8,690 7,580 1,110
= 2,607
Al 6.083
1 ABI = XIAEE 8,69 7,580 1,110
OOISSTAE MEHOIE X2 Al
8,690,000& 8,690
S 2,607
Al 6,083
SSHEIIE(OEE) SAR 12| FIXA(EX) 14,459 1,441 13,018
[ 4,338
Al 10,121
307 glztol & 14,459 1,441 13,018
= 4,338
Al 10,121
11 MEISXAEEXS 14,459 1,441 13,018
OSSHEINE SAR 218l =01 XA
14,459,000& 14,459
= 4,338
Al 10,121
2FAE 2SN 22,544,155 18,782,798 3,761,357
= 10,498,989
= 30,000
& 6,043,822
Al 5,971,344
ool 2SR 757,350 581,070 176,280
201 er23 | 3,500 3,500 0
01 At2teltl 3,500 3,500 0
O eS| 2,000
OE2s gf=d 2,000,000 2,000
O=&H| 1,500
O0eloly HRFd 1,500,000 1,500
202 04l 1,350 1,350
01 2LHoIH 1,350 1,350
OE2=X2 g2 1,350,000 1,350
301 LEetE N = 132,000 130,000 2,000
02 NBI2HHLFS(HAAS, XNLHE) 132,000 130,000 2,000




A IE=SAH
M B2 9 01S2XSH
ol ESAE 28X (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OUE0lE SALL Ml X
132,000,000& 132,000
307 QI2tol ™ 590,500 426,220 164,280
06 232 20,000 0 20,000
O02l0lE e ZBH It XI&
20,000,000& 20,000
11 AR SXAMEE R 570,500 426,220 144,280
OE=0! SotSUsl 7,300,000& 7,300
OZHA ESDAA A 25 AIY
20,000,000 20,000
ONel0lE X&F2dHl XNF At
76,800,000& 76,800
ONE0IE SI1¥FI| 224 XN At
17,600,000 17,600
OO02I0IE S2tald] XIZ ALY
120,000, 000& 120,000
OMEAIZt HE Hel0lE 28| XIJ
36,000,000& 36,000
ONHE 0| E=&<0| oAbl X3
76,800,000& 76,800
O020lE Fot 22253 N
216,000,000& 216,000
401 A& B2 20HYI 10,000 20,000 A 10,000
01 AlEHI 10,000 20,000 A10,000
O==80He0I& HE= 10,000,000& 10,000
405 KHHE SH| 20,000 20,000
01 ML SEFHSHI 20,000 20,000
O=3E0a01d 237
20,000,000& 20,000
BEuWA olAH| XS(EX) 5,392,052 5,300,000 R,052
= 2,696,026
= 1,348,013
Al 1,348,013
307 212+01 A 5,392,052 5,300,000 R,052
= 2,696,026
= 1,348,013
Al 1,348,013
11 AR SXAEE X 5,392,052 5,300,000 R,052
OEsuHA 2lAd| K&
5,392,052,000& 5,392,052
= 2,696,026
= 1,348,013
Al 1,348,013
OHE0IE BXAE WA XA (BX) 1,120,596 1,120,000 5%
= 560,298




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 280,149
Al 280,149
307 lztol & 1,120,5% 1,120,000 5%
= 560,298
== 280,149
Al 280,149
1 ABIS XA X 1,120,5% 1,120,000 5%
OOIRI0IE FEEDAl X2
1,120,596,000& 1,120,596
= 560,298
== 280,149
Al 280,149
02H ES2(ExX) 3,420,529 4,435,310 21,014,781
= 2,223,344
[ 478,874
Al 718,311
307 212+01& 16,000 20,000 4,000
= 10,400
= 2,240
Al 3,360
11 AMISXAIEEXE 16,000 20,000 24,000
O02M E5& 16,000,000& 16,000
= 10,400
= 2,240
Al 3,360
308 AtAIEHMSOIE 3,404,529 4,415,310 /1,010,781
= 2,212,944
= 476,634
Al 714,951
18 SIS0t HAS A 3,404,529 4,415,310 21,010,781
O02H B2 (HLMRIH)
3,404,529,000& 3,404,529
= 2,212,944
= 476,634
Al 714,951
35A FelE ESESXA(EX) 1,790,316 2,005,236 A304,920
=S 1,790,316
307 glztol & 420,000 660,000 240,000
= 420,000
11 ARRIS XA E X 420,000 660,000 240,000
O3-5M =2 HE 2528 K&
420,000,000 420,000
< 420,000
308 AtXIEHMSOIE 1,370,316 1,435,236 A\64,920
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A IE=SAH
B 98 9 OIS=NEA
el EFAld 23X (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 1,370,316
13 BI |2 SOICHEH B A X LAE AL 1,370,316 1,435,236 264,920
O3-5M F2Is 282 X2 (BRXXI)
1,370,316,000& 1,370,316
= 1,370,316
IHEASS+Y KAE(EX) 117,847 233,500 A 115,653
= 76,601
& 20,623
Al 20,623
301 LetEEZ 117,847 233,500 A 115,653
= 76,601
= 20,623
Al 20,623
01 MBI BEA62(2DEXTHA) 117,847 233,500 A 115,653
O3 A 117,847,000& 117,847
= 76,601
= 20,623
Al 20,623
OHElold 2gXNA(BX) 73,025 102,040 229,015
= 36,51
= 18,257
Al 18,257
307 2I2+0l™ 73,025 102,040 229,015
= 36,511
& 18,257
Al 18,257
1 ARRISXAIEE X 73,025 102,040 229,015
O] 23,467,000 23,467
= 11,733
& 5,867
Al 5,867
O=0ZE K20y Xtz 22|
38,591,000& 38,591
= 19,295
& 9,648
Al 9,648
Os0HE AgISRIEe! 020l 23|
10,967,000 10,967
= 5,483
= 2,742
Al 2,742
OHElold @ Bxug(8BX) 3,876 4,080 AN204
= 1,938
& 969

&




FA OEES A
M 98 U OIS=NEZ
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 969
307 gl2tol & 3,876 4,080 N204
= 1,938
= 969
Al 969
11 AMEISXAIEEXS 3,876 4,080 AN204
OESuXE 2= WSH| 3,876,000& 3,876
= 1,938
& 969
Al 969
2LHI(AIIUSE ) (EX) 62,314 43,000 19,314
= 31,157
< 16,579
Al 16,578
307 glztol & 62,314 43,000 19,314
= 31,157
== 16,579
Al 15,578
11 AMEISXAEEES 62,314 43,000 19,314
OAMZTSE EF X2 62,314,000 62,314
= 31,157
=S 16,579
Al 15,578
S3E0NE0IE 2EHI(EX)(HEAL) 273,904 263,500 10,404
< 204,303
Al 69,601
307 lztol & 273,904 263,500 10,404
= 204,303
Al 69,601
11 AMEISXAIEEXS 273,904 263,500 10,404
O3 0zlold XI& 271,404,000 271,404
= 203,553
Al 67,851
O238 H20ld WsSZ MLl X
2,500,000 2,500
== 750
Al 1,750
SN MRHE X (0I01E LA (2 477,876 482,040 N4,164
%)
= 238,938
& 119,469
Al 119,469
301 EtE NS 477,876 482,040 A4, 164
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2A: JIE=EX
. 22 U OIS=NEX
ol ESAE 28X (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 233,938
T 119,469
Al 119,469
01 AISIBE X 2GS (2 UETME) 477,876 482,040 N4, 164
OO0IRI01T DA22EZ HaYl X
477,876,000& 477,876
= 233,938
T 119,469
Al 119,469
BEUNNIA HRIHE X (DAERJAE X)) (EX) 9,252 11,400 AN2,148
= 4,626
& 2,313
Al 2,313
301 LB F 9,252 11,400 AN2,148
= 4,626
& 2,313
Al 2,313
01 AISIBEH 2GS (2 RETME) 9,252 11,400 AN2,148
OuAt Z2& 2F X 9,252,000& 9,252
= 4,626
& 2,313
Al 2,313
BN MM A (SEESUA SE22+H) 46,944 50,988 24,044
(2%)
= 23,472
& 11,736
Al 11,736
301 LPENSZ 46,944 50,983 A4,044
= 23,472
= 11,736
Al 11,736
01 Al B&X2HZ2(2REETA) 46,944 50,983 A4,044
O=Z22SDA Sg2a24y
46,944,000 46,944
= 23,472
= 11,736
Al 11,736
BEWA HRIHEEI(EX) 333,640 355,880 A22,240
& 100,092
Al 233,548
301 LPENZ 253,640 275,880 A22,240
T 76,092
Al 177,548
2 MBI 2EA>HS(HUAHS, NSTHA) 253,640 275,880 N22,240




FA OEES A
M 98 U OIS=NEZ
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEFuA ML 253,640,000 253,640
= 76,092
Al 177,548
307 gl2to| & 80,000 80,000 0
=S 24,000
Al 56,000
11 ARRIS XA E X 80,000 80,000 0
O0elold Ex=<0 A&
80,000,000 80,000
< 24,000
Al 56,000
=38 020l &#SAY(EX) 245,000 220,000 25,000
= 122,500
< 61,250
Al 61,250
402 QI2H X201 & 245,000 220,000 25,000
= 122,500
== 61,250
Al 61,250
02 RIINEASEZ(0IETHR) 245,000 220,000 25,000
O=38 0208 &5 A
245,000,000 245,000
= 122,500
s 61,250
Al 61,250
Oelold 2g8I(d - ) (EX) 26,100 36,690 210,590
& 5,220
Al 20,880
307 elztol & 26,100 36,690 210,590
= 5,220
Al 20,880
11 AMEISXAIEEXS 26,100 36,690 210,590
O02l0ly 2&8I(d - Hdl)
26,100,000 26,100
=S 5,220
Al 20,880
Z0HO M2 O{EI01E 2X A AHI(EX) 24,732 24,132 600
< 7,420
Al 17,312
307 glztol & 24,732 24,132 600
= 7,420
Al 17,312
11 AMEISXAIEEXS 24,732 24,132 600
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FA OEES A
M 98 U OIS=NEZ
ol ESAE 28X (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OZ0i0L d= Olel0ld 28 & 22|
24,732,000& 24,732
= 7,420
Al 17,312
HElold S2tAlHl XY (Ex) 126,360 71,124 55,236
== 60,348
Al 66,012
307 212+01& 126,360 71,124 55,236
[ 60,348
Al 66,012
11 AMEISXAEEES 126,360 71,124 55,236
O0el0ld 24| X3
126,360,000 126,360
= 60,348
Al 66,012
HE0lE AL XIR(EX) 30,000 24,048 5,952
= 15,000
= 7,500
Al 7,500
307 elzto| & 30,000 24,048 5,952
= 15,000
S 7,500
Al 7,500
11 AMEISXAEEXS 30,000 24,048 5,962
O0i201d THAMWAL Q124H| XI&
30,000,000& 30,000
= 15,000
< 7,500
Al 7,500
Oelold JIsE2(EX) 60,000 32,000 28,000
= 30,000
< 15,000
Al 15,000
402 QI2F X201 & 60,000 32,000 28,000
= 30,000
== 15,000
Al 15,000
02 SIINEANSEX(0IETHR) 60,000 32,000 28,000
O02old JIsEd 60,000,000 60,000
= 30,000
=S 15,000
Al 15,000
2220 XA (EX) 6,874,736 2,777,400 4,097,336
= 4,468,578
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FA OEES A
M 98 U OIS=NEZ
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,203,079
Al 1,203,079
301 EtE NS 6,874,736 2,777,400 4,097,336
= 4,468,578
== 1,203,079
Al 1,203,079
01 AR 2EHSHS (22X 6,874,736 2,777,400 4,097,336
OF2=0 XI& 6.874,736,000& 6,874,736
= 4,468,578
=S 1,203,079
Al 1,203,079
020y OAMIEH 24| XId(ExX) 55,200 57,600 2,400
< 16,560
Al 38,640
307 glztol & 55,200 57,600 A2,400
= 16,560
Al 38,640
11 AMEISXAIEEXS 55,200 57,600 A2,400
OO0el0I& OMIEr 28| XI&
55,200,000 55,200
=S 16,560
Al 38,640
HElold Al XY (EX) 680,616 461,760 218,856
< 204,185
Al 476,431
307 elztol & 680,616 461,760 218,856
= 204,185
Al 476,431
1 AMEISXAEEXS 680,616 461,760 218,856
OOIRI0IE TR X
680,616,000 680,616
= 204,185
Al 476,431
P2 INUBKE XJA(EX) 62,400 0 62,400
[ 18,720
Al 43,680
307 glztol & 62,400 0 62,400
= 18,720
Al 43,680
11 AMEISXAIEEE 62,400 0 62,400
OFR2E MAEFE= N2
62,400,000& 62,400
= 18,720
Al 43,680




FA OEES A
M 98 U OIS=NEZ
ol ESAE 28X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOISEXNHE 4R 300,000 300,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
OS0ISEXNAMY cl2ed
100,000,000 100,000
405 AtatsE = 200,000 200,000
01 TR ESFSHI 200,000 200,000
OSOISEXNRMH JINMN =25 7
200,000,000 200,000
FRXNEANE AP QIAH| FIHXIJ 179,490 0 179,490
S 53,847
Al 125,643
307 elzto| & 179,490 0 179,490
= 53,847
Al 125,643
1 AMEISXAEEXS 179,490 0 179,490
OESNAAL DR 12| 2N
179,490,000 179,490
s 53,847
Al 125,643
CEHARE 247,768 245,816 1,952
= 145,729
=S 18,217
Al 83,822
CEHARE HH =2& 65,606 63,606 2,000
201 et 3| 3,606 3,606 0
01 At22t2l] 1,012 1,012 0
O=¢g| 1,012
OCEHAERE gRFH 1,012,000& 1,012
2 s5=34l 2,594 2,594 0
OXtE et 2,594
OCEAHEAME & =
2,594,000 2,594
301 22N = 60,000 60,000
02 A2 EH LGS (HAAS, NLWE) 60,000 60,000
O=EAEE 208 X278 23|
60,000,000 60,000
405 AtatE = 2,000 2,000
01 ML ESFSHI 2,000 2,000
O2A2E d&0 ¥ )| 7
2,000,000 2,000
XS ESYAEE S A2l NJ(2X) 182,162 182,210 A48
[ 145,729
= 18,217

N




FA OEES A
M 9= U OIS=NEZ
Cr9l: CEIAEE (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 18,216
201 er23y| 30,300 30,300 0
[ 24,240
= 3,030
Al 3,030
01 AlR 21| 20,000 20,000 0
OEIEER=1] 20,000
OCHAEIEME 2928 79 o 292
MBS 17,000,000& 17,000
[ 13,600
= 1,700
Al 1,700
O=¢&tl 3,000,000& 3,000
[ 2,400
= 300
Al 300
02 S3=gHl 300 300 0
OS2 A 300
OOISSBAZRIAN 222 BUXS 2
2 300,000 300
s 240
s 30
Al 30
03 A2 I 10,000 10,000 0
O=3HE & &2 E
10,000,000& 10,000
= 8,000
< 1,000
Al 1,000
202 04l 7,000 7,000 0
= 5,600
== 700
Al 700
01 =LHOLI 7,000 7,000 0
OAtdl2el & Ws 4 ST
7,000,000& 7,000
s 5,600
== 700
Al 700
301 LEIE NS 144,862 144,910 YaV:3]
s 115,889
== 14,487
Al 14,486
01 Al 2E AL S(SREXME) 73,794 73,794 0




2N IE=T D
I H] Q OISEAEH

= A Ors= &l
Rl EEAEE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=208 2238 2F 73,794,000 73,794
= 59,036
== 7,379
Al 7,379
11 dAMEEIXIE S 3,414 3,462 A48
Oz )d=2g gl 3,414,000 3,414
= 2,731
< 342
Al 341
14 IIEt2 8= 67,654 67,654 0
OZ0tg Z208 2AE
67,654,000& 67,654
= 54,122
< 6,766
Al 6,766
Hgus & iel N2 666,507 695,122 N28,615
= 17,036
= 253,405
S 48,202
Al 347,864
=EE2 Hdus=2g 294,622 316,812 A22,190
Hedns T2 Y 29 275,722 267,912 7,810
201 Eer23 | 29,275 25,465 3,810
01 At2tltl 20,912 18,102 2,810
O3] 19,200
OGIHMS +24 D& H40 o HEH
NIREPN S 4,000,000 4,000
ONSEE U HAADE Y
3,926,000 3,926
Oozt&EX -+ 4,054,000 4,04
o0dzl2 etZ3d| =t 7
600,000 600
OF=J| 2el(2H wet & +el)
420,000 420
O3JIE&E)| 2H u& 1,200,000& 1,200
ol ¢A Fg & =2l F#¢
1,400,000& 1,400
oRel dsd MHM(AE 2 103) 7Y
1,300,000 1,300
Ociual &= Feb| 300,000 300
Ondal2t ZAt 23l 1,000,000 1,000
ORI IS, M AL X=E 2t IHE Al
& 1,000,000 1,000
O=&H| 1,712
ondsl2t AR 1,712,000& 1,712

_46_




FA OEES A
ZE: 4D L ARl X
oSl 2FEE2 HHDSL2 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 8,363 7,363 1,000
O2223LHA 1,455
OZAIIIA ALEZE 291,000& 291
otz 1,164,000& 1,164
OAI2 ZHI= X 6,908
O0dzl2 Al2dtl RA2+
2,941,000& 2,941
Ollot: =& 2,134,000& 2,134
OMsE &=l ¥ 2HLM S
1,833,000& 1,833
202 04| 1,307 1,307
01 SLHoIH 1,307 1,307
O0du=s2d g2 727,000 727
OEus=g Ned 580,000 580
206 24| 640 640
01 b 640 640
0524 0127 239 2
240,000& 240
Ostaa A=%E 2Y 400,000 400
301 EtE NS 244,500 240,500 4,000
11 dAMEEIXIZE S 1,500 1,500 0
O=H ¥ 2SS IHAF AHI24
1,500,000 1,500
14 0Bt 243 243,000 239,000 4,000
ONHduF A=< 239,000,000& 239,000
O24 Relus 4,000,000 4,000
WISt 12,000 42,000 /30,000
206 MH=H| 2,000 2,000 0
01 MHZH| 2,000 2,000 0
Os=0 1= Wi 1,000,000 1,000
ORI J13, XK HE 7
1,000,000& 1,000
405 AtatE=H 10,000 40,000 30,000
01 TR =S FISHI 10,000 40,000 230,000
O0del2 o2 TOI0t: Wl
10,000,000 10,000
SAMUAE HAIR Y 2HF 6,900 6,900 0
201 er23 | 4,400 4,400
03 Ar=EHI 4,400 4,400
O-2d A3 A3 4,400,000& 4,400
301 LEetE N = 2,500 2,500
11 #AIAHIXIZ S 2,500 2,500
OZETAE THASAR & EAH AHIE
o 2,500,000& 2,500
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2A:
PSER
o e

el

==X
odu=s & dXiel XN&
oddiel X2

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

e gXtel X

oW

=

371,885
17,036
253,405
48,202
53,242

378,310

M2EH XE2L(HEM2LSDIHER2YE)(EX)

SRR

=

95,449
47,725
23,862
23,862

81,260

14,189

101 e124d|

SRRE]]

=

69,929
34,965
17,482
17,482

61,240

8,689

OJIZtH22 X 442

65,800,000&

peta]
4,129,000&

SRR

=

SRR

=

69,929

65,800
32,900
16,450
16,450

4,129
2,065
1,032
1,032

61,240

8,689

SRRE]]

20,520
10,260
5,130
5,130

15,520

5,000

03 At

10,520,000

10,000,000

SRR

10,520
10,520
10,520
5,260
2,630
2,630
10,000

10,000
5,000
2,500
2,500

8,520

7,000

2,000

3,000

202 04|

3,500
1,750
875
875

3,500
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